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x=1-a/b

[ECO153] Given AP as 5, 8, 11 , find the 127th of the AP.
T127 = 383

[ECO153] XCY in set means:
T is a subset of S

[ECO153] Which of the following is the LCM of 3, 4, and 5?
60

[ECO153] Qd = 20 - 4P shows
The interrelationship between quantity demanded (Qd) and the price (P)

[ECO153] Which of the following is a form of fraction?
All of the options

[ECO153] Which of the following a major types of sequence?
Arithmetic progression

[ECO153] Distributive law in matrix states that
A(B +C)=AB + AC

[ECO153] If x3 A¢4,~a€0e 2x2 + 4x Ata,~a€ce 7 is divided by (x - 3) Find the remainder
14

[ECO153] A - B in set means:
Relative complement of A and B
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